Question Paper Preview

Question Paper Name: AGRICULTURE AND MEDICINE 25th April Shift 1
Subject Name: AGRICULTURE AND MEDICINE
Duration: 180
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Number of Questions: 40

Section Marks: 40

Display Number Panel: Yes

Group All Questions: No

Question Number : 1 Question Id : 4557344641 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Find incorrect statements from the following

A) Cell wall of Gracillaria has outside gelatinous coating
B) Dictvota has Flagellated spermatium

C) Hormmworts show Haplodiplontic life cycle

D) Volvox zygote acts as a zoospore
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Question Number : 2 Question Id : 4557344642 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Character of Pteridophyte considered as an important step in evolution

B0GPE @ 08 T ©FIN HBTrHEHN0S” SPgAd BePS SrdS0b

Options :

The embryo produces a multicellular well differentiated sporophyte
DOGESM $100) TVEDRNE 50050 e DBEK0 BoHS HED2BSN GBS

Sporophyte 1s dominant phase in life cycle

28 SEoS” DED2ESN Paosd
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Development of zygotes into young embryos takes place within the female
Gametophytes

Q DoBrr H20es™3 Socsngheo BE Hodor wPB)H BokHS

Spores Germinate to give rise to prothalli
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Question Number : 3 Question Id : 4557344643 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Identify the plant that posess all the following characters
A) Xylem and phloem are main conducting elements
B) Pollen grains are carried by wind

C) Transfer of pollen 1s direct

D) Ovules develop into seeds after fertilisation
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Number : 4 Question Id : 4557344644 Question Type : MCQ Display Question Number : Yes Single Line Question Option
ion Orientation : Vertical

Study the following statements

A)
B)
C)
D)

Archaea and Eukarya are more closely related to each other than bacteria

R.H. Whittaker placed unicellular eukaryotic organisms in the Kingdom Monera
Carl Woes replaced Kingdom Monera with two Kingdoms Bacteria and Archaea
24S subunit of ribosomal RNA is used in the identification of Microbes

& 808 =0z wfgohio Dasndw.
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In the above. incorrect statements are
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Question Number : 5 Question Id : 4557344645 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Ovaries of four different plants A. B. C and D show variation in the position of ovules as
stated below

A) On central axis without septa

B) Onthe inner wall of ovary

C) On the ridge along the ventral suture
D) Atthebase of the ovary

A.B. C 508050 Ded arenih 6570 308) o0 ot @0a§05065°) womre w08 @506‘
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A) HLEES BodohH S
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C) »omdodh &60HL0W Hén

D) womdoHdn 280

Identify the A. B. C and D plants respectively
A.B. C5005n D 3n§) ok H63m o
Options :

Tomato, Argemone, Tridax, Dianthus

ETSrEY, ©Qars, @a°§), BoSrodd

Primrose, Mustard, Pea, Marigold

(RO, ©5, wod, o8
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Citrus, Sunflower, Argemone, Dianthus
Dad)), PESEMND, '"—5‘53.:0“5 Eo3rofdo

Chinarose, Dianthus, Argemone, Sunflower

oY, dalrodo, ﬂ#@ﬁ)"m, PREDMHE

Question Number : 6 Question Id : 4557344646 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
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Match the following

List-1 List-1I List-1III
A) Mango 1)  Dolichos lablab I) Hesperidium
B) Orange 11) Annona squamosa I) Aggregate friut
C) Bean 1) Cifrus sinensis II) Drupe
D) Custard apple v) Mangifera indica IV) Legume
1508 A0 280635030
erda -1 rde -1l erde - 111
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B) &% =808 i) oo JyErd II) 50898 Hoo
C) ag s 1) QDD DIYR ) Boshe Hodn
D) HeHeo V) SroADor 3085 IV) &gdordsdeo
The correct answer 1s
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' 1. I . Iv 1. 100 v, II
A B C D

, I 1. IV 1. 11 i I
A B C D

3 . ITT i I LIV 1. 11
A B C D

; 111, ITT . I 1. 11 . IV

Question Number : 7 Question Id : 4557344647 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical
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Chrvsanthemum differ from Jasmine in the given aspects when they give rise to new
offsprings in vegetative propagation process

I) Lateral branches arise from basal and underground part of main stem

I) Branchesbent and grow downwards

IT) Branches grow obliquely upwards

IV) Lateral branches arise from the base of the main axis and are aerial
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Question Number : 8 Question Id : 4557344648 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Assertion (A) : Pollengrains are well preserved as fossils

Reason (R):  The exine of pollen grains is made up of sporopollenin. which can withstand
high temperatures. strong acids and alkali.

D3 do (A): Hoerdsnen Ferarenm FBHEEadaron

820 (R):  Horrdande arirg §5E50 FHFIFBISH AG)hd S0 ©is ¢ Hdel,
DO B DO Frorod Snsite.

Options :
Both (A) and (R) are true and (R) 1s the correct explanation of (A)

; (A) 08050 (R) @0 Bodkr $05D, 8050 (R) 295088 (A) S 5085 D580
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Both (A) and (R) are true but (R) 1s not correct explanation of (A)
. (A) 30805 (R) en Bodr $352, 570 (R) 256 (A) § 535 5620 5760

(A) 1s true but (R) 1s false
3 (A)3056 57 (R) 5858 57

(A) 1s false. (R) 1s true
, (A)358 56, (R) 5955

Question Number : 9 Question Id : 4557344649 Question Type : MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

Different parts of embryonic axis based on cotyledon position in a dicot embryo

dadeo TS0 srdor BlEde HoFESNS' HIE ermen

Options :

Cotyledons. Epicotyl. Plumule. Radicle. Hypocotyl. Root cap

Daseren, EH0DREE0, PES 57080, P Soreo, effdeddo, IS K
1.

Plumule. Epicotyl. Hypocotyl. Radicle. Root cap
, PES stodo, 6H0HeBYo, uftheddo, PES Soreo, IS BN

Epicotyl. Plumule. Cotyledons. Hypocotyl. Radicle. Root cap
’ &H0DeBE0, PGS st0d0, Dederen eFDBEE0, PES SHreo, IS END

Cotyledons. Hypocotyl. Plumule. Epicotyl. Radical. Root cap

Hudeen, 98 DRdE0, HEDH 570d0, GHdHREF0 HES Soreo, VSN
4

Question Number : 10 Question Id : 4557344650 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Arrange the correct order stages for monosporic development of female gametophyte in
angiospernis.

I) Functional megaspore
II) Freenuclear divisions

) Embryosac
IV) Linear tetrad of megaspore

V) Megaspore mother cell

sS)Edere EDEDe Sg8 @ SodBrs Hal wHHHB Sfo HPS EH3NS® wHod.
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The correct sequence is
585 €500

Options :

 ILLIV.V.IIO

, LILIV.V.III

; VIVLILIIO

, IV.V.LILII

Question Number : 11 Question Id : 4557344651 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Study the following list

List-1 List-1I
A) Bluedye I) Belladona
B) Yellow dye ) Ruscus
C) Medicine M) Indigofera
D) Edible o1l IV) Soyabean
V) Butea

§od Do efgohdo DasuDmn.

e -1 e -1
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V) ardair
The correct answer
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Question Number : 12 Question Id : 4557344652 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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Organelles whose functions are co-ordinated with each other as an endomembrane system

@08 écS‘j 55:3:365‘ 2,808 88 D& wdorrso EOAS Scoromren

Options :
Endoplasmic reticulum, Golgicomplex. Mitochondria. Ribosomes

wodld BSgere0, mYS08Ho, T so@olr, Jef a0

Endoplasmic reticulum. Golgicomplex. Lysosomes. Vacuole

w0808 (BSgareo, md oo, B, 08

-2

Plasma membrane. Mitochandria. Golgicomplex. chloroplast
Tamdeso, Poi'sro@oir, M Sofio, 8800

Mitochondria. Chloroplast. Peroxysomes. Ribosomes
¢ sro| @03, O0S00H, DoE)FD0e, B R@IeN

Question Number : 13 Question Id : 4557344653 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Inall green plants. each cell shows one chloroplast

Reason (R):  The ratio between the number of chloroplasts and the number of cells in
Chlamydomonasis 1 : 1

D3 Eo (A): SHBHT 08 08 ON0BS D HEED0S* 2.8 57880005 S0k

5?0 (R): STEITTD S0 8800 Doy HBo%N Edne Jopge g
Qaé 1: 1 &0

The correct answer 1s
éa@é DAFTEE0
Options :

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
 (A) 50050 (R) 00 Dot 5352, 50050 (R) #5856 (A) $ 895 D56
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Both (A) and (R) are true but (R) 1s not correct explanation of (A)
(A) 508050 (R) @0 Bodor 50859, 570 (R) @588 (A) S0 388 D580 570

(A) 1s true but (R) 1s false

(A) 3858 520 (R) 3058 57
3

(A) 1s false but (R) 1s true
; (A) 58858 5760 570 (R) 8058

Question Number : 14 Question Id : 4557344654 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Choose the correct statements

1.  Ribosomes are found in Cytoplasm. Chloroplasts. Mitochondria and on rough ER
11.  Mesosomes in bacteria are not the sites of DNA replication

1. Algae cell wall made of cellulose. galactans. mannan and calcium carbonate

iv.  Mitochondria. chloroplast and peroxisomes are the part of Endomembrane System

2000305 55**534:35@;5} Qmﬁ‘:ﬁ}é})

1. SopSgdn, 0800 en, DS gro@asren 350050 K55 @085 (($SgEre0 M
025" %0 QD00

ii. er§oohows ™ MHFPFSner DNA He580 Bosow)

1. 30 SasSwren _‘n}mse_‘i‘ﬁ 81@'—*55@3, SrHsoen Sodas 51%0‘530 5‘*5‘;33&503 08
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iv. DETProdosr, rdE00Y Hdoin DorENBNen BosdHeS SgERS D ermren

The correct answer i1s
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4 11, 111

Question Number : 15 Question Id : 4557344655 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

DNA molecule has length of 476 A with 20% Guonosine. Choose the correct features of
DNA

2,8 DNA 2208 476A &3S 20% g Do 89 )86, DNA sz So20809) 588

(-

20080

56 CTP

336 Hydrogen bonds
Total 150 nucleotides
84TTP

ZE8°

Options :

LILIO

LILIV

L2

3 ILILIV

, LIOLIV

Question Number : 16 Question Id : 4557344656 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A:  Composition of cell membrane of Erythrocyte

B: No. of strands present in peripheral fibril of centriole

C: No. of nucleotides 1n a typical nucleosome

I) 60% protein. 40% Lipids ) 52% protein. 40% Lipids
M) Phosphoglycolipids V) 3

V) 200 VD) 145

A JPBEsre EdiS05°) wddtisten

B: o@BrSetd $8H0%H FIST Srfyodse Sopg

C: e Srg8drdrans'd Srgfdrdde Sopg

D 60% @&&8S, 40% 5 ) 52% @458, 40% 99
o) NS Ok V) 3

V) 200 VI 145

Respective answers

25772080 I

Options :

| LIV.V
, ILIV.V
, LV, VI

, LIV.V

Question Number : 17 Question Id : 4557344657 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Number of bivalents. chromatid tetrads. DNA strands. telomers present in pachytene phase
of meiocyte of Maize

FELS B$45° Do) FTHS' dod Ingo BIBoLS, FSrEE SHar)en, DNA Fren
500030 S MoHEe Hopg HAGoT S0ES

Options :

| 20. 20. 80, 80
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20, 20. 40. 80

L2

10, 10. 40, 80

sl

, 10. 20, 40, 40

Question Number : 18 Question Id : 4557344658 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify group of plants based on given anatomical characters in sequence.
A) Bicollateral vascular bundles
B) Bulliform cells

C) Ringarrangement of vascular bundles

'

& (S00ANDAS ©odB)070 ©Fre BFTEoT B30, VDT HESM HB0WHD
A) BRFTFOC TISTR)0EreD

B) 0@y Serren

C) o9sHoaren S0oHoes @08 &odd

Answers respectively

2are0e) A

Options :
Tridax, Nerium, Zea

B, JbaHhd, eolr

Helianthus, Grass. Nerium
Sdosirods, gfe3 Q80D

L2

Nerium, Tridax, Zea

QBoDH, P&, #okr

Cucurbita, Zea, Tridax
000)ir, #osr, I

Question Number : 19 Question Id : 4557344659 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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Helianthus distinguished from maize based on this anatomical character

wodd)omeHdornr rOOIF0EDS B0 HE°K) $0d JPHOD ©FE

Options :
Protoxylen lacuna absent. phloem parenchyme absent

PENTE w5578 Goddn. FAE NYHERET OO0 GOBMD

Protoxylen lacuna present. phloem parenchyme present

PENTE w5578 0. FAE DYhEreo ok

L2

Protoxylen lacuna absent. phloem parenchyme present

BENTEH ©I5°8E S08D. NS DYhEEre0 ol

Protoxylen lacuna present. phloem parenchyme absent
PEDTEH ©I57FE GO, FAS YISV GO

Question Number : 20 Question Id : 4557344660 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

In A.B.C. plants with

A) Plant grow 1n arid zone

B) Absorb more water during rainy reason
C) Withstand prolonged dryness are

A.B.C 98 30§ &

A) DY @rodoes” DS

B) Sosreoe® 80 wisornr §00Ed

C) 5%351@5 226772773 é&?géaam N[ablopRIVISY

Answers respectively
Barenen I

Options :
Tribulus, Asparagus, Casuarina

(Eenged, sHoio, saroa
1. a
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Tridax, Asparagus, Casuarina

" @m@; 5—?@07{15, 5~2X0”

Tridax, Tribulus, Asparagus

3 @Jﬂg @59@5@5? Héﬁ}f}"’ﬁf}

Maize. Tridax, Asparagus

i 3}3%3&"5&, @5”.{1 Eéﬂjﬂ"'ﬂﬁ

Question Number : 21 Question Id : 4557344661 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Find correct statements from the following

A) Protein transporters are responsible for maximum rates of transport under saturated
state

B) Translocation of substances in bulk flow requires hydrostatic pressure gradient
C) Root pressure plays greatest contribution for upward movement of water in tall plants

D) Transport proteins of endodermal cells are control points for active transport of ions
in two directions

Bod 7¢8eS5° JBGS PITSInesH HHbodod
A) Dody) 98S® K0HroN Sa7ErEd 88 Toirsen 526200

o=

B) "'c,}go @0 JY B’Ja"o;&) @;moécﬁm& aao?g@é NS HS08 5580
C) 285 SyFod* 8 Sdidny Soads 36 adSo whgor &)@ wodo
D) wod# ) o &) Sarwr @5@ Do HFOS® wairae JEoir areadd doholkn

soren

The correct answer 1s
SBGS BEPTEE

Options :
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AB
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Question Number : 22 Question Id : 4557344662 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Given mineral 1ons essential for the physiological activities of plant

A) Nitrogen metabolism

B) Synthesis of Auxins

C) Activation of [AA oxidase enzyme
D) Formation of Mitotic spindle

a_

C) TAA=§ESE ISBD EasrSodo Dosnd
508 HBEG0 YKo

Answers respectively
STARAVIOS I [o b8 Ta

Options :

. Mn.Zn.Cu.Ca

MO.Mn. Zn.Ca

-2

~Zn. Cu. Mn. MO

sl

4 MO.Zn. Mn,Ca

Question Number : 23 Question Id : 4557344663 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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Study the following

I) K,value Affinity of the enzyme
II) Hydrolases P-O bonds

IMI) Transferases Transfer of a group

IV) Emil Fisher Lock and key hypothesis

& §ob T ©ggohso BosDHn

) K,de08 JIBN D0E) arBogo

I ZrEdde P-O 2x057en

o) ¢gryaoden JDBorFA) 2bd Dosnd

IV) 26 DR6 @¢oED) - oD JOENS

The correct combinations are

588 BBardten

Options :

1

-2

4

LIV
LI

LIO

ILIv

Inverse measure enzyme affinity
Linking 2 compounds

Inhibitor of reaction

Formation of ES complex

B

Gy HTGSD
S0Gomr Tenth
2-30037570d) §e0)d
Borg A8 G850
ES-S0830 dyduhés

Question Number : 24 Question Id : 4557344664 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Series of enzymes involved in the given reactions of C; cycle

C;500506" 280 & §od S6goe® s JoBSnen SEHdm

(I) A[6¢c]+B[3c] — C[4c] +D[5¢]
(I) Cl4c]+E[3¢c] = F[7¢]

(IIT) D[5¢c] — G|5¢]

(IV) G[5¢]+ATP — H[5¢]
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Aldolases. Transketolases. Isomerases. Kinases
s B8, Erdsisrdfen, odrsdden, 3380

Transketolases. Aldolases. Epimerases. Kinases

Er8TShen, s Bfen, IH0H, S3FHex

L2

Aldolases. Transketolases. Phosphatases. Kinases

e Ofen, Erysstdfen, FHBFw, S38e

3.
Transketolases. Aldolases. Kinases. Epimerases
Er8E'Bhen, B8, 3380, IDS0Fen
4

Question Number : 25 Question Id : 4557344665 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

No. of ATP. O, molecules and NADPH released in photophosphorylation when
12 H,0 molecules undergo photolysis

12 H,O =0den s70& @*#3555&'15&5‘ TP i}c‘,&)cse_)cﬁgg ATP en, O, ®0Hen
0003 NADPH o Sopg

Options :

| 6.6.12

L2
N
o
2
(=)

Question Number : 26 Question Id : 4557344666 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Preceeding reactions of oxidation I. II. ITT and I'V 1n Krebs cycle

B9 SoohHos” %%}ﬁdm I IL III 58050 IV S6ges Snokh 200 Sdgen

Options :
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Decarboxylation. Hydration. Cleavage and Hydration
Ason§1BAS, S2d8dmo, HB¥So 50050 B2dEGR0

Hydration. Decarboxylation. Cleavage and Hydration
J2d8600, 5 on§BAS, HBFS0 $BasH H2dEG0

L2

Cleavage. Hydration. Hydration and Decarboxylation
DBFS0, HudSdmo, SadBno HOSH &5Ton§BAS

Hydration. Cleavage. Decarboxylation and Hydration
J208620, DEES0, AsTHEBAS 50050 H2dEG0

Question Number : 27 Question Id : 4557344667 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Growth regulators that help to overcome the given physiological problems in a plant
(A) Withstand desiccation and other factors unfavourable for growth

(B) Promotes female flowers in cucumber

(C) Increase absorption surface

(D) Rapid elongation in intermodes

808 JBodgosH wHEN0BLE T EHE InH o S5 JoHows en

(A) 30§ o HHE0H HE&sre DOQEBH SF Perarod é@dg‘ﬁmmﬂ &\ o&0b
(B) &%He5° Eu; Do GBI Do

(C) Fhderd) Dowhdd

(D) S Soggdredd Srdrh Boswd

Answers respectively

Baree) S

Options :

Ethylene. ABA. Cytokinius
1 D505, ABA. DETBIS

ABA. Ethvlene. Auxins
i ABA. 598, 83
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ABA. Ethylene
; ABA, 250

Auxins. Gibberelius

380, 2eN0O
4. : -

Question Number : 28 Question Id : 4557344668 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Name for the given phenomena events that occur during the growth of the plant

A) Production of tissues in woody dicotyledonous plants to perform specific function
B) Heterophylly at different stages of growth

C) Formation of meristems from parenchyma cells

30§ o DHHEOS® & 1§obd LIS Sdged Hfodsod

A) TG B DeBNE) e Q03 DG0H AEBDENE wAJCHMN ST ON
&E oy

B) 38 2hihde SF0e” ) HE$S

C) Sdosereo $00) Jeregingroo I\ HL

Options :
Redifferentiation. Plasticity. Dedifferentiation

HBBBES0, FHVE, BB ES0

Redifferentiation. Differentiation. Dedifferentiation
DSBBES0, DFPES0, ABBES0

-2

Dedifferentiation. Differentiation, Plasticity
535555::5;50, BRGS0, FRVE

Dedifferentiation. Plasticity. Redifferentiation
DBEEH0, PR, HSBPES0

Question Number : 29 Question Id : 4557344669 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Choose the wrong statements from the given below

A) Lederberg and Tatum found that the bacterium donates entire genetic material to
recipient

B) Ehrenberg established link between bacteria and infectious diseases

C) Pasteur showed about the significant changes of nature brought by bacteria

D) Grffith discovered recipient cells of bacteria acquire previous characters

& 1508 78 S0l V05D FTEgOd D) SoDw.

A) g 2§00%H TFrdwmom Dgo zdgdrgos &8s 2HOVAING) BEba
58050 drdranen BDHTH

B) ngée&a@)@&, ©0t0Tgod DHEy o SooTri) QEJ"EEEJ{; @D;@DQ‘C@J
C) wgaodr BEYBS” DBYFS Srdxyen &858 55088 FH0 BOTFH
D) er§0osr (erdsoo wodd S0068) ©Erd) FotHdHodd PHS Wb

Options :

. AB,C
, B.C.D
W

4 AB.D

Question Number : 30 Question Id : 4557344670 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The correct combination of hosts and their respective viral diseases
A) Bovine spongiform encephalitis-Cows

B) Rubella-Beaf

C) Scrapie disease-Sheep

D) Crentz feldt Jacob disease-Man

©&F0o0 HHB0IN ) Howodd IS Ty aden
A) T3S MOBFD VWD - sPHen

B) d&r@er - I8

C) @=2ag - Mo

D) 882G - &°88 agh - S
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Options :

. KB

A.C.D

12

B.CP

Question Number : 31 Question Id : 4557344671 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Some of F, progeny are formed 1n single during dihybrid cross between round and yellow
(J ) and wrinkled and green (7) pea plants. Their genotypes are

O B3N DX DETren (d) 558030 Sndden §OA So8a%0 e3> Dy DET N (%)
S© 07 30§ O HLD08THN 20ANIYE F, S feloloN §'Q) A0 e .00 udQCgOJJ.
% 2,000 I © Bdogirare)

Options :

1 RRY Y. rryy. 1rY Y. RRyy

RRYY.iryy. rYy. RrYY

13

RRYY.nmyy. RrYy. rYY

s

RRYY.mryy. Rryy. RrYY

Question Number : 32 Question Id : 4557344672 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

DNA molecule which has the highest number of hydrogen bonds

©dE Jdopg TTEES oo §OAS DNA @m0l

Options :

AAGAGCGT
. TTCTCGCA

AGAAGCTT
s TETTOGAL

gcollegeduniaa
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GCGAAAGG
BB ETTE 8

AATTACGC
,TTAATGCG

Question Number : 33 Question Id : 4557344673 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The number of nucleotides on the mRNA. ATP utilized. peptide bonds formed. translocations
and ribosomes required to synthesize a polypeptide with 500 Amino acids

500 e

2RO

rEJI

dTBITrOH §DAS &@"‘@‘ES $035570¢5° €0 mMRNA &°0 3ngo Srg8Brdaen,

=

4]

-

1
o= ATP H0BARE ©IH503e DS a0 K05 B S
o 80, N0 FEIB) LAV 2§ 22 20TreN, Crigndelidel=: Tob 9, o0 S8 00
™ E : O
:f:ospgm

Options :

; 1500, 499, 500, 500 & 500

1503, 500, 499. 499 & 1

-2

1503. 500. 499. 500 & 1

, 1500, 499, 499, 500 & 499

Question Number : 34 Question Id : 4557344674 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Light DNA (14, transferred to 15, labelled culture medium for replication. The ratio of

total number of 15,; and 14, labelled strands of DNA extracted from the culture after three
generations

898 3go DNA (14y) S 153598 388 05rsgoess” H85S 2dASHYd, Srdh dore
Sogd SGS oS80 $r08 DEHBHS DNA S 15y 508050 14y 945 DNA &Fibe Sogrg

Oy wh
\
o o

bGo

Options :

{ 127

7 7:1
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Question Number : 35 Question Id : 4557344675 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Sequence of strategies involved for the 1solation of gene of interest from a plant cell during

the process of IDNA technology

A) Dissolution of biological membranes
B) Enzymatic digestion of cell wall

C) Precipitation of DNA

D) Removal of DNA by spooling

rDNA 0888 (H800S° 770500H oferen Ao adyg Hoogd) S)E 00 SHod DKo

BSNLE & §od Frgirte SEBED0
A) Bddoros S0A0HL

B) J0B»0d 80 §59°Q) 50A0SHL
C) DNA®S58hohHed

D) DNA % HoB8'e o%or HEHS0L

Options :

. B.C.A.D

C.A.B.D

-3

'B.A.C.D

sd

, C.B.AD

Question Number : 36 Question Id : 4557344676 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

-

el

collegedunia:

India’s largest Student Review Platform



The core techniques enabled modern biotechnology

A) Change the phenotype of host-organism by genetic engineering

B) Chemical engineering process of vaccine production by tissue culture
C) Manufacture of specific products from eukaryotic cells in bioreactors
D) Altering the chemustry of genetic material by tissue culture

2570888 Y05 PSS FosSE ITTT e
A) =g 2020000 TR0 ©&Ron S)Egirrosd Srén
B) &&r05S 2020000 HgHe oo, T§ioed Enare S50 oo SaSrdHBos

C) odrdoirgfe oo J=SoE §9rod &IBFN0D IR SHTIOD DE KNS
S5 EHBos0E

D) 23808 3’::65"0;@6" Sarais drdNOd S ;Sg::,o o%o" al0s0S80

Options :

 B.C.D

A.C.D

L3

"A.B.D

sd

4 AR

Question Number : 37 Question Id : 4557344677 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

collegedunia

—



The correct combination pair of given strategies in the area of health care developed by the
rDNA technological processes.

I) ELISA Antigen-antibody interaction
II) RNA interference Cellular defence

) PCR Gene therapy

IV) Transgenic potato Pseudomonas resistance

HSsHodres Foss&E HEoH oo &8 So8E Derriio R Srés ‘53%5&@& STelalelnToT ATY

000 506 0008 :sen.

I) ELISA REBIE - PECES HIND &
II) RNASg&Es600 S§codEs ;‘sgé&

1) PCR 2dg D8

IV) 2d0g H0588 220metHod SrEarad A6 GEES

L

éﬁdg

Options :

10

LI

L2

3 LI

, IV.II

Question Number : 38 Question Id : 4557344678 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Plants genes have been altered by manipulation for these uses
I) Increased efficiency of mineral usage

II) Altemative resources to industries
III) Enhanced nutritional value of food
IV) Better management practices and uses of agrochemicals

& 800 PAraTe B I o adHgPhos” adyg Sroyd DT,

) 228de FHggd) Do

) BdFEos Rergoamod $358en

M) es:35%8 FAE Dendod owhdd

IV) 380S adradrdg a’:g@:m 0B Sgdrod SrodhTre adso

Options :

ILILIV

LILIO

L-3

; LILIV

, ILILIV

Question Number : 39 Question Id : 4557344679 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Study the following Lists
List-1

A) Recently emerged disease

B) Genomics

C) Re-emerging disease

D) Super microbe

& 1808 FhHerod wfgohso ook
e -1

A) dirensd achbdd ogh

B) #5908

C) &8h 5% 20HLHA Tgden

D) 056 ArE 2

The correct answer 1s

D08 K0

Options :
a8 B € D
I B E B
a B £ D
1 I I m N
a8 B £ D
2 I IV W 1
A B € D
g N W 2V 3

S88°

S 8B8*

List-1I
Resistant to drugs
SARS

New vaccine

Dengue fever

ardee =11

TATOH PNV GES
SARS

§g ar§)oen

@Aonlrg 23060

Question Number : 40 Question Id : 4557344680 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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Choose the incorrect statements from the following

I) Blue green algae add organic matter to the soil and increase fertility
II) Fungal symbiont of mycorrhiza facilitates absorption of nitrogen
IT) Baculo viruses are not desirable in IPM program

IV) A:zospirillum and Azatobacter are free living i air

& 1§08 78] ool J05°) woFOD IS5 HIHD

) 9 5B Fdoren Y888 wodoHh Iorges B8 rdSoso whEo BI0s
) 3HoBES5reos® 3o SEd SFad Fhams S E)EHD

I) IPM 5&8065° erBoges” 360en SHDrA0SE

V) Eﬁ?ﬁ}ﬁgﬁ) 508030 w2iiergs modes* i}agf.iam 203 AHen

Options :

 LILII

, LILIV

, LILIV

, LILIV

Zoology

Number of Questions: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 41 Question Id : 4557344681 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Species 1s an ecological unit
Reason(R):  Individuals of a species share the same ecological niche

QBygo (A): 8 2.8 Bl [DSr0
5§20 (R): 2,8 68 BohS £Jen 2.8 b L) (DB) HoHFotron

Options :
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Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
 (4) 5005 (R) o Bodrr $0@5D 50050 (R) ©35 (A) & $0Go% DB6w

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) 558050 (R) 0 Bodr $85085d 570 (R) @38 (A) § 5050 Dbk 57

-J

(A) 1s correct but (R) 1s not correct

(A) 585058 59 (R) S05056 56>

(A) 1s not correct but (R) 1s correct

" (A) 585056 6 52 (R) H05056

Question Number : 42 Question Id : 4557344682 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : In human beings kidneys are retroperitoneal organs

Reason(R):  They are protruded into the body cavity from inner surface of dorsal body
wall and have mesodermal peritoneum on their ventral side only

D3yo (A): SrSHAS* Sorghomen S6IRS wIcharen
s60 (R): ©d 3HHBTSHdy 550800 $H08 BISHTCos*VE HH00D ¢
6808005 SrE@h BIrERNod wsibodnd otron

Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

1 (A) 508050 (R) &0 Bodr 5053050 $H805n (R) ©3s (A) & H8B8 HSGe

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
, (A) 58050 (R) e Bodkr 388D 570 (R) @36 (A) § 58308 DI8s0 5765

(A) 1s correct but (R) 1s not correct

, (A) 3085 50 (R) 0SB 565

(A) 1s not correct but (R) 1s correct

, (A) 58856 56 59 (R) $0@056

collegedunia

—



Question Number : 43 Question Id : 4557344683 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following statements

I) Microglial cells keep the cerebrospinal fluid in the ventricles of brain in constant
circulation

M) Arrector pili muscles are unstriated muscles
IMI) Basophils remove antigen-antibody complexes from the blood
IV) Perichondrium is absent in fibrous cartilage

808 wozen w@gohHdo Basod

) ENHS ogren G LFT0e R SR, DD Bard) dbodbo HSGnes®
- JeInelaloby

) JPs6 9O Sodoren woPHS Sokoren

o) BFoSen B8 uSE-@HETT Jofared 8o $Hod Sohdzon

IV) <odhodne E’)J&Cﬁje_}*‘%f_ﬁ's 20T €0k

Among the above, the incorrect statements are

2 a°¢3eSt 305°0 wozed Hiobod

a_

Options :

 ILII

LII

L2

, ILIV

o LIV

Question Number : 44 Question Id : 4557344684 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Match the following

List -1 List-1I
A) Trchimella I) Platyhelminthes
B) Redia II) Mollusca
C) Trochophore II) Echinodermata
D) Glochidium IV) Porifera
V) Amnelida
8oh 770 2458000
rda -1 de - 11
A) S Sdoer I) 9?56533‘-‘@ 2089
B) b6&osr ) oo
C) ¢saxs ) I35 (1’9‘5;&}1
D) #&8&d%o IV) &80
V) «30@

The correct answer 1s

=2 P
—~
< 0
R O

=
ve
®
»

T\.T

=
=

Question Number : 45 Question Id : 4557344685 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Study the following statements

I) Colloblasts are found in sea gooseberries
II) Larva of cestodes 1s Muller’s larva

) Nematodes have renette gland for excretion
IV) Stomochord i1s found in hemichordates

Bod wozen ©goHso BaHod

) FSSgfen © ArdBdes” otron

) 2fée oo Sneb oo

) 35560 IBEs Sohdo 03¢ od

IV) esdghodo (Farsg) s gdfios’ Gotnod

Among the above. correct statements are

D 7°¢385° JB8GDS wozren HioSod

Options :

| LILII

LIOLIV

L-2

ILILIV

s

, LILIV

Question Number : 46 Question Id : 4557344686 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Among vertebrates tympanum. sternum are first appeared in

JEIGE S §080, 69 Inhandhm HBS* JgyFron

Options :
Pisces

B0é
_ Sepge

Amphibians
, GE00BTeN

—
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Reptiles
S8 ren
. 3

Question Number : 47 Question Id : 4557344687 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following table
S.No. Group Ancestors Evolved in
I Pisces Osteolepids Silurian period
I Amplibia Osteolepids Devonian period
I1 Reptilia Labyrinthodonts Jurassic period
IV Aves Therapsids Carboniferous period
\% Mammalia Therapsids Triassic period
$ob HEE Hoedotod
3.50 JBarseo JrOggoen HBsgrosnno
I Sorarygen BHBrTHH ordo adnifo
II &efosoren BRDrTHEe &S V0D oS0
I1 30Ky en B0 wotien 2008 odnio
IV Hgoen Horey&en SEHQDED oS0
Y §smren o &Een L05DE oo

Pick up the wrong combinations

D w07 H05°d D¥DoHen MHHBoSod

Options :

| LILIV

ILOLIV

-2

LILIV

(W]
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, LILII

Question Number : 48 Question Id : 4557344688 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Match the following
List -1
A) Longitudinal binary fission
B) Transeverse binary fission
C) Sporogony
D) Sporulation
808 o783 2EA%H A
e -1
A) soHE BITTINS
B) ©d& &8
C) 6
D) &84S

The correct answer 1s

‘e&@@aé SV ALERIN Y

Options :

A
LV

< »

12

B £ D
I I 1
B € D
m IV I
2 € D
b5 Y I
B & P
NV 1 I

D
1)
IID)
V)
V)

D)

Z 88

V)

List-1I
Paramoecium
Amoeba
Pleurobrachia
Plasmodium

Euglena

erde =11
Felofvbtolovtle
@doer
Sro'Esasr
FFBoDo
ofofar
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Question Number : 49 Question Id : 4557344689 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Opium is obtained from this plant

S0t & INE) SHod 0HH0b

Options :
F & apaver SOHIHIfE??HH

| B3 Fraydo

Cannabis sativa

2 s’@!)ﬁ dar

Atropa belladona
: DT BT

Ervthroxvium coca

; Do B0 §'5

Question Number : 50 Question Id : 4557344690 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Some times relapse of malaria may take place even after treatment
Reason(R):  Activation of hypnozoites

D go (A):  TYHTE D84) wlosdo Erm HHBB0T S DB
560 (R):  Srdmmrondien &dz&Sddo

Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

1 (A) 58050 (R) &0 Bodr 58505 88w (R) @38 (A) & 58508 DG

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) 508050 (R) &0 Bodr H50G035D 520 (R) @38 (A) § S80S DG 57

L2

(A) 1s correct but (R) 1s not correct

(A) 585056 50 (R) $0556 575
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(A) 1s not correct but (R) 1s correct

, (A)3058 5265 0 (R) S0GHEB

Question Number : 51 Question Id : 4557344691 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Options :

1.

Lo

Match the following
List-1
A) Fasciola hepatica
B) Plasmodium vivax
C) Sacculina
D) Leishmania donovoni

8086 e 2EH0H0AW

rda -1
A) Poadrer Trardise
B) &qdabo Jor§)
C) &rsg8a
D) é‘.}TfJegci')oir B 55D
The correct answer 1s

HOGHS BITGTHE)

A
I

A
I

A
v

A
IVT

B € D
v 1 \Y
B e D
Ny M
5 € D
Im I I
B € D
m I I

g8 <

)
V)

V)

List-1I
Castration
Kala azar
Hyperplasia
Neoplasia
Hypertrophy
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Question Number : 52 Question Id : 4557344692 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following statements

[)  Maryuana is extracted from the Indian hemp plant

II) Amphitanunes cause sleeplessness

II) Morphine is involved in the transportation of a neurotransmitter. dopamine

IV) Heroin is commonly called smack

Bod wozen w@goHso Babod
) Srderarardd 208000 700 D0, Hod Soerddd
II) oIS AET020en

) &5 ©3 ob «darsso Sawes® maﬁ 580 B8 04008

f—

i

IV) roronedd a7)§ «d8ra® @oérd)

Among the above. correct statements are

D 807" S80S T8 Hiotodk

Options :

| LILIV
, ILILIV
; LILIV

, LILTI

Question Number : 53 Question Id : 4557344693 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the abdomen of Cockroach. the ventral nerve cord 1s absent in the following segments

°R08 &E60S5D & poderes® 466 TREoE0 SoBM

Options :
5t segment

1 5 S woddo
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7% to 10® segments
, 718 poddo ok 103 poddo

8™ to 10 segments
. 8 S po&do Hhodk 105 po&ko

5% 8% 9™ segments

2 53, 83, 935 odaen

Question Number : 54 Question Id : 4557344694 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The following are the joints of each leg of a Cockroach

I) Tibia
II) Coxa
III) Tarsus
IV) Femur

V) Trochanter

ES‘Qoé aé‘gyé& srenest §od '5035‘3;51 weHdoe 8§98 &odnodh

) S80S
I ss)

I &g
IV) 536

V) @#5°s~0db

Arrange them in correct sequence from thorax to tip

T80 380 ool FIJDE 65 wSdod

Options :

 ILLOLIV.V
, ILV.IV. LTI
s ILLIV.V.II

, V.IV.ILILI
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Question Number : 55 Question Id : 4557344695 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Amimals living in air-water interface

D& &HBK0e5* O, A 0 T &oi 2ohHHen

Options :

Nekton

SE)

Periphyton
DOPETS

Lo

Plankton
3;05_35 (RSs7en)

Neuston

:»‘3?5#5
a)

Question Number : 56 Question Id : 4557344696 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : In brakish water stenohaline animals are abundant

Reason (R):  Brakish water animals can withstand wide fluctuations in salinity
R0 (A): &H308 SoHges® QS TrBS (MES80DE) 2odHHen wHSom & odrown

s°8=0 (R) : ﬁa’:jfjéﬁ §0565°0 2odhen 550D S50 whHE SO SRS SES

wnireoae) SOAGoLToN

Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

1 (A) 508050 (R) en Bodr $8G@5D $8a3» (R) @38 (A) & H0508 HIG

Both (A) and (R) are correct but (R) is not the correct explanation of (A)
. (A) H00805» (R) o0 Bodr S030&5D 570 (R) o386 (A) 8§ 30805 DG 576
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(A) 1s correct but (R) is not correct

. (A) 58330858 5°Q (R) 305056 5765

(A) 1s not correct but (R) 1s correct

, () 30IB 56 50 (R) 6058

Question Number : 57 Question Id : 4557344697 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Match the following
List-1

A) Hospital wastes

B) SO, pollution

C) Particulates

D) Automobile exhausts

8o8s 80 28580

A)
B)

e -]

SIS ég{gm

802 5Te0NL0

C) D08rd DI

D) 3rird oo eTroe

The correct answer 1s

B € D
m v I
B C D
g B

I)
1)
1)
V)

V)

D

S 2885

List-1I

Electrostatic precipitators
Catalytic converters
Scrubbers

Biotoilets
Incinerators

ade -11

JOETE @IHBLE
SLHBEIE 858
EE
2OOTETTONSLN

250800 oSoEeen
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A B OC B

,I NV m V

A B C D
N W T W

Question Number : 58 Question Id : 4557344698 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Study the following statements

I) Inathermally stratified lake. in winter. the upper layer 1s known as epilimnion
) Amnimals in a lake that are capable of swimming constitute neuston

II) The natural interconnections of food chain form a network called food web

IV) Energy flow in an ecosystem 1s unidirectional

§od woren wEgohio Baod

D) &3 3045550 BodS H639)65° 275" 0065° 2 TS IR TS VOIS Lordd

) ABS* Hdr 530D 20HHOH ST Lolr-dd

o) SFzomr &6 Feodien wf o'08° Q0588 fod Soorm dderon. B
w8080 ®odlrd

IV) 2ad8 3g536° 4§ ©30 I8 Srdoest adiHEod

Among the above correct statements are
» TS 0 &&) wozren HBoPod

Options :

L LI
, ILIV
, LTI

L ILIV

Question Number : 59 Question Id : 4557344699 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Observe the following graph of regulators

Internal level —

ST A et S (N S U
External level —

In the above graph I. IT and ITI represent

EH0s=SH0d Ho005H00S §od (TR H02Dokod

[TeYz1e]

L

a:r-';'rg PO —
o]

2 Bgrder0es® LIL Mol drdHodd

I II 1

Options :

Conformers Regulators Partial regulators
; IG5 Een Sos doen JE88 15

Partial regulators Conformers Regulators

88 S5t den ChivhetoalebOV ESosBoen
2

Regulators Conformers Partial regulators
; (ESos doen ©HIFs*Ben 88 |Bdosdhen

Partial conformers Regulators Conformers

58 wdIE5en Eos*doexn BNIFsoen
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Question Number : 60 Question Id : 4557344700 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
Following are different layers in the wall of alimentary canal of man
I) Longitudinal muscles
II) Mucosa
III) Serosa
IV) Circular muscles

V) Submucosa

§o8 SrSYHR BT HodgoS A IAE Joren RSCTFTON
I) =054 Sodoren

) 35860

M) 565 &8

IV) SeocdH Sodoren

V) 8333380

L0

fe

‘] Q;'.IL

Arrange them in correct sequence from outer to inner side

20D H0&k S HOIYBo D3 0GB SEHBEH0e5°* wdod

Options :

HOLLVIIV.I

—

ILLIV.V.I

-2

ILV.IIV.LIO

sd

HLIV.LV.I

Question Number : 61 Question Id : 4557344701 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Right side shift of oxygen-haemoglobin dissociation curve occurs during

s8RI-TATTHS IBr2S 0p HEIHE 26KLrd8 $800

Options :

-

el
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Low pH,

" g5 & pH.

High pH.

3,5 pH.

-2

Low pH.

High pH.

$55 5 pH.

J%9,% pH,

high CO,.

89,5 CO,,

low CO,,.

£89,5 CO,,

low C 0,.

£59.5 CO,,

high CO,.

89,5 CO,,

high temperature
Q8 S SFS

low temperature
S50 5 SN

high temperature
Q8 S SIS

low temperature

3895 &L

Question Number : 62 Question Id : 4557344702 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Study the following diagram of human tongue and identify the part I. II. and III

Eod aSgss SrSHA Trens YEHLrQ) H88d0D I, II, Il grrmren HB0H0d

Options :

Foliate papillae

FOTHE Srgyodoren

1.

Fungiform papillae

PO0EFT0 mgéo&o*m

11

Circumvallate papillae

26),038¢5 JorgryoSaTren

] 1 E
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Fungiform papillae Filiform papillae Foliate papillae

P0LJE0 JTr50500°e0) Sohdrd drgrofoorey FOE Hrgryosooren
2. ¥ S ©
Filiform papillae Fungiform papillae Circumvallate papillae
$0&0rs) AT osTTeD POLJPC0 AT 0BT EN écﬁgjo?ﬁe::}éﬁ‘érgﬂépéamm
3. = :
Circumvallate papillae Filiform papillae Fungiform papillae
" 26,038 Soegryo%oren $0&HErd drgrodorren  HoEPEo SrEoSoTen

Question Number : 63 Question Id : 4557344703 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A): ‘Dub’ 1s one of the sounds of the heart caused during a cardiac cycle

Reason(R):  The sound is due to closure of semilunar valves present at the bases of
aortic arches

DR So (A): 88 S00508° Hod B0 farod® dS 288
s*d=0 (R): & eS8 §70w0 EHHTFo HEerfoestd E-gzﬁow?d gaordren
S0 B08° 50

Options :
Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 00030 (R) &0 Bodr 3063080 H0dosn (R) 038 (A) & DOGHS DT

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
. (A) H0805» (R) o0 Bodr H850S5D 577 (R) w36 (A) § JBGS DG 5%

(A) 1s correct but (R) 1s not correct

(A) 3003058 570 (R) 385308586 5765

(A) 1s not correct but (R) 1s correct

(A) A0FNSE 5760 570 (R) S8G0HE

Question Number : 64 Question Id : 4557344704 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
P collegedunia:
Or= : ; :
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Study the following table

S.No. | Part of nephron Lined by Substances reabsorbed
I) | Proximal convoluted tubule | Simple squamous Glucose. amino
epithelium acids. water
II) | Descending limb of Squamous epithellum | Water
loop of Henle (thin layer)
II) | Ascending limb of Squamous epithellum | Water. electrolytes
loop of Henle (lower thin and
upper thick)
IV) | Distal convoluted tubule | Cuboidal epithelium Water. HCO;3

Sod HBE HB8OoSod

5.80. | £)8), Hdro oo 13807 G0RH HSs8° Q00 BoB
D) [Fdodg S0598 98 J6¥ oy o GHEY r¥er, oI elre, IO
o) [37Q 385) oS8T |foyo &HE le®
(He0dd Aden)
o) |0 385) =679 oo &HEY 3les
(Bo850ED, 2 DT )
308EH)
IV) |drol %0588 T8¢ SoTsl SHEE 56, HCO;

Among the above. Wrong combination are

D TES* B0 2ER60 woren HYoSod

Options :

LTI
, ILTI
; LI

4 LIV

Question Number : 65 Question Id : 4557344705 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Study the following statements
I) Inembryonic stage. the interventricular septum of human heart has foramen ovale

II) Tunica media of human artery has elastic lamina on either side
I) Excretory organs of arachnids are coxal glands
IV) Angiotensin IT stimulates the Juxta Glomerular cells to secrete the enzyme renin

8od wozen w@gofso BabHok

I) 50d38e5" Sr8HQ $H0BS0EO 28057088 HLrerds Foradd wud &0L0s

) 35535 G500 DnE), NEFE0ws IS EJYer PSTHE S0) &0LTow

) oz £Jho IdFsSoharen FHS Hoghen

IV) 2§tr Godgers S50 Jo2drdde I ea82do dofdo $¢ 3 (renin) =3I
QOBIND PIT0W

Pick up the incorrect statements from the above

2 8S* JBrBA wozren Kool

Options :

1. L4
, ILII
; OLIV

s LIV

Question Number : 66 Question Id : 4557344706 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Regulatory proteins in a myofibril are

S088 JrE1goY 5080 dodHoks D¢3en

Options :

Actin, Myosin
| 98S, HATHS

collegedunia

—



L2

Actin. Troponin
D83, LIS

Myosin. Tropomyosin
SRrHY, EFFHDBrH

Troponin. Tropomyosin
LIS, ETFHDTO

Question Number : 67 Question Id : 4557344707 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Observe the following diagram of brain of man and i1dentify the parts lebeled as I and III

808 @SS SrSPHD BEE DGEHErQ) H08900 LI od MHiosod

I

Options :

-2

Amygdala

e

Corpus Callosum

500 ?,e.?]:a’m

Corpus Callosum
5*0)0 8eY S0

I

Corpus Callosum
s 8y® B8N0

Hypothalamus
TFOTDR

Thalamus
édgoéo

] 1 E
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Hypothalamus
- LIRS

Corpus Callosum

s*8y0 830

Question Number : 68 Question Id : 4557344708 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Match the following

=

A)
B)
C)
D)

So&

A)
B)
C)
D)

List-1

Oogenesis I)

Ovulation II)

Parturition J118)

Milk production V)
V)

T30 28550
erdar -1
w00

wo& fdo

2850

§6°%$\§

The correct answer 1s

A
I\’T

B € D
NV I I
B € B
¥ I W
B € D
V Im I

B ¢ D
VN V I

List-1I
Oxytocin
Melanocyte stimulating hormone

Luteotropic hormone

Follicle stimulating hormone

Luteinising hormone

s 88°

V)

erfle - 11

w8)45°HS

DOITPE (DS F*6°)S
OBBrErnl F6)S
HEEESS F96%S
208332oR F°6)YD
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Question Number : 69 Question Id : 4557344709 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Read the following statements

I) T, lymphocytes are involved only in cell mediated immunity

II) Thymus gland of mammals is a secondary lymphoid organ

Il) The part of antibody that recognises and binds to an antigen 1s called epitope

IV) Interleukins are primarily involved in differentiation of the cells of immune system

8od wozen wigofHso BobHod

) T.00pin pd00S SRISEESS® Srigdh SFdydeon

) 350 od §8mrees® Br&osH doFrond wda%HSo

o) ©H&255°7) HBoH TA&° ohdEHdy BETT ) VLD wodrdd
IV) aobborslSen §'KIGCE Swre DBES0S* S'dydaron

Among the above. the incorrect statements are

P 58" 3050 wowren Hfolod

Options :

, LIV

ILIO

L-2

3 LII

, ILIV

Question Number : 70 Question Id : 4557344710 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

During fertilisation. acrosome of sperm releases

P88 HEHS® ' Fo Hod JEODg JoBS

Options :

Hyaluromdase

1 5055 OGEe
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Lysozyme
, STFEDI»

Enterokinase

. 00655?_3333

Glucosidase

:’i;??eéazﬂ
e

Question Number : 71 Question Id : 4557344711 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Study the following
S.No. Cell Formed by State
L Spermatogonia Mitosis Diploid
IL. Spermatid Meiosis I Haploid
T, Oogonia Meiosis Diploid
IV. Secondary oocyte Meiosis I Haploid
808 wowen wffgahso BobHod
3.50. §e00 D8Y3 Deseis 08
L HEST S8 35:DeBS 350938
IL o8& §os8Geadefas 1 bgga
ML Slele b ndt SoSo80adgies alenbrsT
IV. C‘)ﬂg@dﬁo &8 §odo8Gmdgias 1 ﬁg%@

Among the above. correct combination are

—

a_ o™

Options :

| LTI

, ILTI

2 WoFe) S0 8T8 G 7B KHYoSod
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3 HLIV

, LIV

Question Number : 72 Question Id : 4557344712 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Oral contraceptive pills contain

r‘idj&ﬁ“ﬁ% S Sy &ORD

Options :
Oestrogen. Testosterone

BEES, BYRE'S

)

Oestrogen. Relaxin

6%@3*5 Ber8)d

12

Testosterone. Aldosterone

. SPR'S, ST A6

Oestrogen. Progesterone

HFe, AV

Question Number : 73 Question Id : 4557344713 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If one gene mnfluences many phenotypic traits. the phenomenon is called

w8 28550 I8N S G)FgErTFos BerddoBdy o SHSTrY) & dFom 8 odrd

Options :

Polygenetic inheritance

1 2TVRNG W05
Pleiotropy
DHEBFESD
™
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Multiple factorial inheritance

3 RTS8 wHHDodEs

Quantitative inheritance
; HOSTerd)E wHS08ES

Question Number : 74 Question Id : 4557344714 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : SNPs are more stable
Reason(R):  Theyhave very low mutation rates

D3 do (A): SNPex erme Q80mr &043o»
s*de0 (R) : D38 ©d& 8595 SSBSES Bl S0oinod

Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

| (A) 590050 (R) &0 Bodr 585D $H8050 (R) 38 (A) & $0@S D56

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) $580%0 (R) &0 Bodr $86085dD 570 (R) @36 (A) § H850S DB 57

L-2

(A) 1s correct but (R) 1s not correct

(A) 5833058 570 (R) 38530858 5760

(A) 1s not correct but (R) 1s correct

(A) 585058 54 59 (R) $BFS6

Question Number : 75 Question Id : 4557344715 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Study the following statements

I)  Gene that codes for the synthesis of dystrophin is the largest human gene

) Chromosome 21 contains the highest number of genes

II) Endonucleases are used to cut the DNA at specific region

IV) Whole hereditory information encoded in DNA of an organism 1is called genome

Bod =ozren H8RD0LoR

D AFZOS J030d H08&0D aHgd IrsS 255’ &I

) 215 §3rdrane” w868 Sopgs® adogPhen dodrow

M) Jo&Sr§cderen DNAS c'i;}'g%é rogoes® 5{3&:@0}3

IV) a8 238 J02005008 ngo adhg SSrarord) §0A &8 DNAL 25°0 wotrd

Among the above identify the correct statements

DS D)) woTest 0TS 53 Hfosod

-= e

ILILIV

L-2

, LIV

, LILIV

Question Number : 76 Question Id : 4557344716 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The 1dea of survival of the fittest was proposed by

Brfigddre P 2377 REFHONS
o

Options :

T.R. Malthus

¢3.a38. ﬁre}gfé
1.

Herbert Spenser

. TS P

-y
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Charles Lyell
! 00 ©0HS

A R. Wallace
a. 2.258., T80

Question Number : 77 Question Id : 4557344717 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Founder effect 1s a type of genetic dnift

Reason (R):  The change in the frequency of a gene that occurs merely by chance and
not by selection. in very large population. is called genetic drift

A3do (A): @;;ss 2HO &S0 .8 SERS 2HgITDHS
s5*8=0 (R) : T D B80S S600 JS© 58T oS yinson- 2808 Se)Sgoes”®
200 Srdnd 25gdTHE Lotrdd

Options :
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

1 (A) 8031 (R) &0 Bodr S8530:5D $108a8» (R) 238 (A) & [0S DG

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
, (A) 308050 (R) o0 Bodr 3833050 570 (R) @36 (A) § 305318 DB 5=

(A) 1s correct but (R) 1s not correct

(A) 385058 570 (R) 38G0&H 5765
3.

(A) 1s not correct but (R) 1s correct

p (A) 58588 57 570 (R) H050SE

Question Number : 78 Question Id : 4557344718 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The number of amino acids in B chain of insulin

2NOS @Bng), B AenHes*d edns sdre Sopg

Options :

collegedunia
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Question Number : 79 Question Id : 4557344719 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

First clinical gene therapy was to treat

& aghd $oHo DoHEIE D0EEFD adog DL DI@BTAOTEH

Options :
Alkaptomuria

57 ooy bos

Cystic fibrosis

28 PE DD

L2

Haemophilia

ST RrD OS5

L

Adenosine deaminase deficiency

DB AadnJer SHo

Question Number : 80 Question Id : 4557344720 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Study the following statements

I) Cancer of connective tissues 1s called carcinoma
) o-lactalbumin is used to treat emphysema

IOI) Chromium is carcinogenic
V)

Sporadic cancers are non hereditory

§od wowren wEgonso Baosk

D) Dodres Swerore 57900 5700 800 @0drdd
I) o-ersondssd Jod0sr D8Hs* HVBFATEH
) E'Dodho 58 5756 SenrhEod

IV) 36d 7)o wdHhdodso 57

Correct statements of the above

D 78S° HBGS woFren

Options :

A

, ILIII

; LIV

T
« LN
Physics

Number of Questions: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 4557344721 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

kg m?s— A2 is the ST unit of

kg m?s3A2 w5 SIHSro-d) $00 &) F°85078

Options :

-

—
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Inductance

(DS

Resistance

D6°¢Go

L2

Capacitance

BrHES)
3. [4¥

Magnetic flux

as oSJFZT?)Joé W& a0

Question Number : 82 Question Id : 4557344722 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a car race. two cars start with velocities u; and u, and travel along a straight line with
accelerations o and P respectively. If both reach the finish line at the same time then range
of the race 1s

50 B0&* Bodh 5262 uy, 008050 vy Ired® oD SEHIT o SH805n P Edre s’
650 DBoad PHadroo B eBFrd wodgBw:d (finish line) F83 Bdo B0, a7g%

Options :
2(u;—u,)
: =—(uf—u,0)

(P—a)

-

h’: ( uIB —upd )

(P-a)

(u;—u

L-2

2(uy—u,)

-—

5

3 (B_a)‘d

(uy0—uyp)

, (B-0) ;

Question Number : 83 Question Id : 4557344723 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
gcollegedumaa
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The time period of a particle ‘P" moving along a circular path of radius 1 cmis © s. Another
particle ‘Q’ starts from rest at a point A and travelling along a straight line path reaches the
point B 1n 2 s. If AB = 12 cm and the particles P and Q are respectively at D and B at an
mstant shown in the figure. the acceleration of particle Q with respect to particle P is
cms 2. (Points A. B. C. D and O lie along the same straight line)

1 em ergargo fo S)@:se8 Srgoes® §enddd) &8 00 P’ BwE) @ =385 s*oo
ns. ADo H¢ c‘a%a}%é 5008 2050838 {36@'59,313’13‘%‘5085‘ D03VNY) OGNS 8200
‘Q’2 s &° B Do) B85, AB = 12 cm 508030 H80e5* &rhs dPom Soren P
0% Qen 5563 D 580w B Hothho 58 &&)Hvt, S200 P dyarg §200 Q Bng),
$06200 cms 2 (DoPen A, B, C, D 58050 O en 2.8 $6¢09 % o)

(w o L J
o

(w)
C‘D Fd
0
NO

Options :

10

L3

4 6

Question Number : 84 Question Id : 4557344724 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A stone is thrown with a velocity of 20 ms™! at an angle 60° with the horizontal. The speed
of the stone when its direction of motion makes 45° with the horizontal 1s

53 H5r0STDE 60° §08* e Trond 20 ms! FKoS IHTG. T F0S6T §&e

§
Sdroddod” 45° BosnSHE T°0 S&,

Options :
, 28.28 ms™}

5 14.14 ms™!
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3 7.07 ms™}

4 3.53 ms™!

Question Number : 85 Question Id : 4557344725 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two blocks of masses ‘m;’ and ‘m,’ are suspended by a massless string passing over a

. : . m
smooth pulley. If the acceleration of the system 1s g then the ratio of the masses —= =
1y

28 SoBDS E) W BIBS TESNH ©H0y, TESN DSGL Bk BS50°F ABVY

n,
©oNS BIgoHO NG, — =
s 11y

‘my” So8050 ‘my’ 0% @Berddard. Sg5Y Hg8eadn

oo |9

Options :

1. 8. 1

. Tt |

L2

Question Number : 86 Question Id : 4557344726 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A car of mass ‘m’ accelerates on a level smooth road when a constant power ‘p” 1s delivered
to 1t. If the velocity of the car at any instant 1s “v". then its velocity will be doubled after
travelling a distance

DDA BONTEIT &) &8 5‘@}3 ‘m’ (B5g0°3 He 86 ‘pT @d Q6 P0G g0
QYT ¢80 BoHHKH. B §20S* 5B SN Vv wond T S0 BéJo)
LB ©6 DHoirdoddons Srdo

&h

[T

Options :
Tmv

. 3P

3
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Question Number : 87 Question Id : 4557344727 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A ball falls freely from a height 180 m onto the ground and rebounds a number of times.

The coefficient of restitution is 0.5 and g = 10 ms™2. Then match the quantities given in
List - I with their corresponding values in ST units given in List - I

List-1 List-1I
A) The height it reaches after the first impact I) 180
B) The total distance travelled by it m 6
before it comes to rest
C) The time taken to reach the ground first time ) 45
D) The vertical displacement before V) 300

it comes to rest

2,8 208 180 m J&) $r00 gHT SodE FrdopH, TOorE) HADN0L. BEgILS
%830 0.5 58050 g = 10 ms=2. wda - 159 ochod, wdHe - II &° RS SI
D0 0 a8 wHErd dended 2ENGSHn

erde -1 erdes - 11
A) =6 IEELBTO Frd &85 S0 DEEIT e I) 180
B) 205088 ©b SBy008 wb PHosrdod Indgo Brdo m 6
C) rd @6 FEEBId BHEIES é@ 5200 ) 45
D) & JoHHR88 oS5TRE S0 ©d ol IV) 300

DY) araEgiodo

The correct answer 18

3OS HETTES0

Options :
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A B e D
S W % m

A B B B
, vV m [ I

—
—Hlve)
=l
2

Question Number : 88 Question Id : 4557344728 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
When a rubber string 1s stretched through a distance ‘x’. the restoring force developed has

. 2 ; .
a magnitude (px +qx~ + 1‘:{3) where p. q and r are constants. Work done in stretching the

unstretched rubber string by a distance /" is

w8 S &% XN ErESn FHEDSHE GYE HSTHE woBw HBSTraBSN
(px +qx2+1':~;3)T BS* p. q So8050 1 ew Qoo HeD. BB03288 Gepdd & I

BrE80 PREDSHE 2005 H),

Options :
2 3 g4
p/ +qi +1l
) & 3 4

1 pf:3 % ql° s r/*

2y 2 3 4

12

: pl* +ql° +1i*

pl+ql? +1P

Question Number : 89 Question Id : 4557344729 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
gcollegedumaa
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A wheel of mass 10 kg and radius 0.8 m 1s rolling on a road with an angular speed
20 rads™! without sliding. The moment of inertia of the wheel about the axis of rotation is
1.2 kgm?. then the percentage of rotational kinetic energy in the total kinetic energy of the
wheel 1s (approximately)

10 kg 355078, 0.8 m ergardo Heo 2.8 Hgo 20 rads™! §'8o%H SAS* 2.8 G dHom
FRHHG. Edorgo Hbom SFo 2dSs grdoso 1.2 kgm? wond Sgo BE) Jxngo
f&#8e5° o H&=¥§ 7o (DoSrdorr)

Options :

| 5.8%

15.79%

L2

17%

LJ

Question Number : 90 Question Id : 4557344730 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A nigid uniform rod of mass ‘M’ and length ‘L’ 1s resting on a smooth horizontal table. It is

pivoted at its centre. Two marbles each of mass o moving with uniform speed
6

L ms™! in the plane of the table collide with the two ends of the rod simultaneously as
shown 1n the figure. The marbles stuck to the rod and continue to move with the rod. Time

n
taken by the rod to rotate through an angle oy radian 1s (1n seconds)

-
a_

‘M’ (55078, L’ SEHie ((HES 868 8@ S0 §82 JSrods wOP HoH0S?

&8, T NG Do) geéo“ﬂ Dob. 2.5 8 & % 8208 He Boid FoUd Aegeen

pododnd L ms™ 868 S&8° HLos® SrHd dFor §§ Dok Flod 50 §48
s

w8 Hdon S Fn §HdTow. % B&0%HY Ssn EHmo Dot SG§ HS

5700 (DESHeST)

- — Rod (é%]

13
2
A

Question Number : 91 Question Id : 4557344731 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A particle performs SHM along a straight line. In the first second. starting from rest at
extreme position. it travels a distance ‘a’ and in the next second it travels a distance ‘b’ in
the same direction. The amplitude of the SHM 1s

J8¢0 Joad DEEToS)E Sodo D 820 ©odgPII0 I JoHHYE $r08, B
RESST ‘a’ BrG850 SH8080 SHTE DESHS” ©B HFS® ‘b’ BrdSn HoSTrBoNS, H.57.5.
00E). 80 HBE

Options :

-2

b2
2a-b

2

28"
3a—-b

Question Number : 92 Question Id : 4557344732 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two bodies of masses 2 kg and 4 kg separated by a distance of 200 cm are approaching
towards each other due to their mutual gravitational force only. After 2 s of their start. the
separation decreases by nearly

2 kg 5o8adn 4 kg 3SgoeHen e Do Shen 200 cm S5r6065° HSHD. w0 a8 HEHG
B &EEEn oo S8 SrED w8TIBY HEEE SHIT Hod), FrEoefHS 2 s Soxe
T8 Jd0eS” SHke GeronoYmt

Options :

2210712 m

l.

-2

2x107%m

241010 m
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; 2x10° m

Question Number : 93 Question Id : 4557344733 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A string of a material of length 1 m. cross-sectional area 0.2 cm? requires 2000 N to
extend it by 1 mm. The same material 1s used to manufacture the legs of a robot of 50 cm
length and of cross-sectional area 0.5 cm? each. The mass of the robot is 50 kg. When it
jumps from a building of height “h’. it experiences a strain 0.05. The maximum height
through which the robot can jump without breaking its legs 1s (g= 10 ms™)

1 mar&d, 0.2 Clllz%“dagié dTogo e &K Horgod> 1 mm FHB0HEA8 2000 N ©5550.
Q0 Sorgos® 2.8 5%5° BooE) Todd T SaSrHBT®. B w8 Y sten FEH 50 cm
$H005» wi)5'd Iogo 0.5 cm?. & &% 855078 50 kg 26 ‘h’ e F550 ok
B85 0.05 HEBD FodHB, 5'5° 5o JFKB0E SrsKe 103 243 ‘h’ (g=10 ms—2)

Options :
1 125 m

2.5m

L-2

; 10m

4 7.5m

Question Number : 94 Question Id : 4557344734 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Water flows through a pipe as shown in the figure. The areas of cross-section of sections A
and B respectively are 4 cm? and 1 cm”. The gauge pressure in the pipe at the centre of
section A is 1.25x10° Pa and the flow rate is 800 cm3s™!. The difference in heights of the
water levels in the vertical pipes 1s m. (Acceleration due to gravity = 10 ms—2)

H06° SrHS Do 2.8 FHoS™ AW BS08. ASd05n Berme Sggid eergen
563 4 cm? 508050 1 em? K05 erfo ASGgDotd) 3¢ A8 HdSo 1.25x10° Pa
S58050 B Bén 800 cm’s7L. deny 200" 8 Hire Iho g FSo __ m.
(oo Sc8=00 = 10 ms2)

e
|
|
hA T
' |
: hB
| |
| - l
| T
H
_____ l______________l______l:._.____‘---.
&
5 B
A
Options :
1. 6
19
33
4 12

Question Number : 95 Question Id : 4557344735 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A piece of metal weighs 34 g in air. When 1t 1s immersed in a liquid of specific gravity 1.24
at 27 °C. 1t weighs 32 g. When the temperature of the liquid is raised to 42 °C. the metal
piece weighs 31 g. Specific gravity of the liquid at 42 °C 1s 1.2. The coefficient of linear
expansion of the metal 1s

a8 ST 30§, adhY mdS® 34 g. Faf Fods 1.24, &FS 27 °C &%) ($S0e°
S°Q) S00DSHYE TP HY 32 2. IBS SHSES 42 °C H DoDIHYE, S°5T D Y
31 g 50050 (G5 FHE Fod 1.2. S By 58S HhHeego

Options :
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10.0122 K1
10.00122 K
0.122 K-

10.000122 K

Question Number : 96 Question Id : 4557344736 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A thermally msulated cubical box of side length 20 cm and wall thickness 2 cm containing
2 kg of ice 1s closed on all sides. The mass of ice melted in 10 hours 1s

(Thermal conductivity of the material of the box = 0.01 Wm™'K™!, latent heat of
ice = 360x10° T kg™! and ambient temperature = 40 °C)

ghzdn ¢ 20 cm, Fd SHoddn 2 cm Ko 2.8 & 2068 HT58 2 2kg © HoHH
SO Jod ») JPo drobed HNH. 10 HodrereS® 88AS Hoh Bdgoee (28 Ho°g
&3 arsdio = 0.01 Wm K1, S0 MoEgSn = 360x10° T kg, Se059
s =40 °C)

Options :

1

L3

s

1.52kg
1.25kg
1.64kg

0.48 kg

Question Number : 97 Question Id : 4557344737 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A gas consisting of rigid molecules expands adiabatically such that r.m.s. speed of its
molecules becomes half. The ratio of final and initial volumes of the gas is

(ratio of specific heat capacities of the gas is 1.5)

0% B §DAS 2.8 T o5 f{gﬁ‘g}éom mgg‘ﬁo BoHIDYE 77030 wH© r.m.s.
DG Dffo LONIY. TOSNY BNE), f, O PWID0ITT O VS

=%

(s orosn JBFY THoggo g 1.5)
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Options :

, 16: 1

Question Number : 98 Question Id : 4557344738 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Certain quantity of heat is supplied to a monatomic ideal gas which expands at constant
pressure. The percentage of heat that 1s used to do work by the gas 1s

2.8 DEHEBP0E BEG) ToSNHHH Fod S{IEI wod T ©b YE HESo 5§ Tg§HoN0s.
TO3NY) JIDHETIE GIDrHHES 398 +do

Options :

L 80%

20%

-2

40%

(5]

4 60%

Question Number : 99 Question Id : 4557344739 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The rms speed of a particle 1s ‘v, at a pressure ‘P’. If pressure 1s increased to 3 times
then the rms speed becomes

P’ DAB5S0 3G 2.8 $2050 DK, rmS 5B Vype. DESSD 3 B oS o0 rms S

E-"-".
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Question Number : 100 Question Id : 4557344740 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The ratio of the fundamental frequencies of two identical strings after one of them was
stretched by 2% and the other by 4% 1s (Assume that the tension 1s proportional to the
elongation)

28 J8RS Do SroS® a8 TAD 2% Hod0%H TodS AN 4% FHEHS Sogd e
FEDE FSHDTge NG (58 PHdosH @SS SrdHrdos” &otnod w8 od)

Options :

Question Number : 101 Question Id : 4557344741 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A train moving at 30 ms™ is blowing a whistle with a frequency 500 Hz. The speed of sound
is 345 ms~!. The wind is blowing with a speed 10 ms™! in the direction of moving train. The
apparent wavelengths of the whistle as heard by an observer who is respectively in front of
and behind the train are

2.8 Den 30 ms™ JHod IHEr 500 Hz FSHSgENS Erd FASHHB. G0 &
345 ms™. Ben AHS 6FS* 10 ms™ SAS md Hariro ¢H)HYEd Tew S006> B850
38 Fridne 3¢ &) Hd8osud II G0 ST S5orHBE S0y BT

Options :
3 0.65m.0.73m

, 0.60m.0.73m
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3 0.65m.0.78 m

4 0.60m. 0.71 m

Question Number : 102 Question Id : 4557344742 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The path of a light ray inside a transparent slab of variable refractive index is y =4x2. A light
ray travelling in air falls on the surface of the slab at an angle 30° as shown in the figure.
The refractive index of the slabat y=0.5m 1s

Sr8re808) 318855 oo e 28 FOEGE H3AS® &8 5708 8620 y = 4x> ST R)
23008, mOS® HoSrdiN) e.8 5708 8§8200 HL0eS® Wrad HPorr 30° Fod HA)

$00 DE308. y=0.5mIG &) B8, 855G Hreaso

Options :

. 1.33

3 1.46

y.n.

0.5m -

Slab

(o

30°% eoo2d

(0,0)

-> X

Question Number : 103 Question Id : 4557344743 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Interference fringes were produced in Young's double slit experiment using light of

wavelength 6000 A. When a transparent film of thickness 3x10~3 cm was placed over one
of the slits. the fringe pattern 1s shifted by a distance equal to 20 fringe widths. The refractive

mdex of the material of the film 1s

03208 208 DO PBATHoS* 6000 A 5083550 He 5708 &HBTN0N S§BEG HEJes
G, 3x107 cm $0850 Ko w8 FESEE F65 THS* o8 HOE ME &0
55880 Hede Grgiro 20 HE IhenE SBrEHE Erdo 20AKH. ©ond & FY 2 lagely)
582555 oeeso

Options :

1. 123

1.33

L2

;1.4

4.1.5

Question Number : 104 Question Id : 4557344744 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

There is a uniform electric field of strength 10° V! along the Y-axis. A particle of mass
1 g and charge 107° C is projected into the field from the origin along the +ve X-axis with
a velocity of 40 ms—!. Then the magnitude of its velocity after 30 seconds will be (neglect
gravitation)

10° V™! 8¢5 Ko 868 ddgS §g5n Y - wgo Jowd HABSnsHHs. 1 rswn
&5g0°8, 107° C es3850 Ko §205005 ¢85 X - wgo HFS* 40 ms™! Jr50s* §io S5°08
B850 BOS 30 DES® SHhard o0 I H0SIrwo (Mdegsdad JH)PoBrsn)

Options :
40 ms™!

o

50 ms™!

-3

30 ms™!

el

-1
n 70 ms
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Question Number : 105 Question Id : 4557344745 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two hollow concentric spheres A and B are enclosing electric charges 2 C and 8 C
respectively. If the radius of A 1s less than that of B. the ratio of electric flux through A to
the electric flux through B 1s

o A $80sn B &3 28 So88 5fen Femen S6Hdm 2 C 5805w 8 C ddhgarleedd
50005, A F¢ agdrdo B A'¢ argrgo 508 &80 5 wond, A oo F DgS
@) r0s58 8050 B oo FD IgS whHariross gy dnE

="

Options :
.. LED

-2
Lh
[—

Question Number : 106 Question Id : 4557344746 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An uncharged parallel plate capacitor filled with an oil is connected in parallel with an
identical but air filled capacitor charged to a potential V. If the common potential 1s V.
the dielectric constant of the oil is

SrISE QoDS .8 sRFErE SFOLE, mdS° Vodad Vi FBRCHEH s3&:Fob0 Boeds
JEGOSTSHE BFDHLEE SSrodor FoHaIE. G508 FBI0HS V) wond 3

G558 %woéo

Options :

Vi—¥

-3
-
ra

. i+ Vg
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Question Number : 107 Question Id : 4557344747 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Three concentric spherical shells are arranged as shown in the figure. The innermost and
outermost spheres are connected to earth. If the middle sphere 1s given a charge q,. the
charges induced in the mnermost and outermost spheres respectively are

20006 SrHHE ©Hd)S Sord 8ol sl ST oS ©)oiisod S°H 5rdasn
©d)oi3od Iendd Feod #rdnd Jogrdomd. HE S e e q)udfo vobw,

©)oi3god] S*He HHdatn ©oiiEod JIwde FeoP (H0E ulTen SHIm

Options :

~qQy 24,
i T 3
. T
R
—3q, —q,
; 4 4
—<Sa. . 0
o A

Question Number : 108 Question Id : 4557344748 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
gcollegedumaa
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A voltmeter having a resistance of 900 £ is used to measure the potential difference across
a 100 € resistor which 1s connected to a battery of emf 150 V and internal resistance 10 2.
The percentage of decrease in the potential difference across the 100 2 resistor when the
voltmeter 1s connected across it 1s

150 Vemf 580350 10 Q2 wodd)5¢F0 fe &8 ergtads Sopdo D085 100 Q J6°EE0
D360 Gy fo SFBICHS 3@ Foohdd 900 Q J6°Go Ko a8 Jey bt
&HArAoT®. Fey DL JSroddorr Sogrdo BRSBYE 100 Q VG0 DS
oGy o FBIoHS B7s* SMHde +Eo

Options :

! 0.5%

1%

L2

1.5%

(5]

4. 2%

Question Number : 109 Question Id : 4557344749 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A and B are two points on a uniform ring of resistance 19 Q. The angle ZAOB =45°. The
equivalent resistance between A and B 1s

19 Q a86°G0 e 2868 Bof (&0#60)3 Do Hothhed ASdad» B. §w0 ZAOB=45°.
A 5005» B o Hogg doeg lo)(ale

Options :

| 8.02Q

, 208 Q
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Question Number : 110 Question Id : 4557344750 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An electron moving in a uniform magnetic field (4i+6j +nk) T experiences a force

(2{-:—33 +41; ) N. Then the value of ‘n’ 1s

(4i+6:i +nf;)T IS o 868 wohHar o8 FPoS® SIS Ko Jogdhn wodD

(2i+3j -1-41() N @003 ‘1’ Hend

Options :
, <4

6.5

12

Question Number : 111 Question Id : 4557344751 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An electron enters a magnetic field of (31 + 41) T with a velocity of (6J + 41;)1115‘1. The
acceleration produced 1s

(i of electron =1.76x101 C kg‘l)
m

(3i+4j)T -sf-ojjg"j?ros_‘i Etjoejié & ;:18_}@5 (6j+4k)111$_1 R fefoliy L‘g’}ﬁ%é, &‘yéﬁ‘ﬁ% “:Cﬁjg

o) égd&ao
o

EVSTERAS £ =1.76x10!1C kg™
- m

Options :

- 3.52(-8i+6j-9k )10 'ms™?
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, 2.53(-81-6j+9k)x10''ms™

1.76(~81—6j+9k ) ¥ 10" ms™

N

3.52(-8i+6j—9k Jms™

Question Number : 112 Question Id : 4557344752 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Cﬁﬁ.& = () equation is not according to the following

$Bds =0 ©3 3860 §obd T ©HB0H 5

Options :
The net magnetic flux enclosed by any closed surface 1s zero.

S[ePp $00e5° 3580D85 I8Y VoI 08 LHITH HrgD.

No 1solated magnetic poles are available.

0T 08 I8 STen ©HodY.

12

The magnetic flux is positive at some place and it is negative at some other place.

2,8 HBF0eS* woHam od whHardro & omd, o8 BRISNS® 200897500
) 0LN0R.

The number of magnetic lines leaving a surface is not equal to that of entering the
surface.

28 $00 0 20HEIE FD> Indgo woHIYod weVPen, = S0 SHOE I

O0PL HoPgsd I5rSo 57k

Question Number : 113 Question Id : 4557344753 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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A conducting square loop 1s placed in a magnetic field ‘B’ with its plane perpendicular to

the field. The sides of the loop start shrinking at a constant rate ‘0t’. The induced emf in the
loop at an mstant when its side 1s ‘a” 1s

w8 SHOTEE TirE ordd B «ohdod g@os”, ord doo §E HFH eowdnm
S0BLLY GoDTW. OrDH BE) ghHadnen ‘o PE TN THYS HodoErSto @EodR,
ghadn 6P ‘2’ &N) §0o 5¢, orHS’ [HBS5008 DES ToE weswn.

Options :
1 zero (¥rsg0)

, auB

auB

3 2

ﬁ
4 2auB

Question Number : 114 Question Id : 4557344754 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An 1deal choke draws a current of 8 A when connected to a source of 100 V. 50 Hz

When a resistor 1s connected to the same source. it draws a current of 10 A. Now the choke
and the resistor are connected 1n series and then connected to a source of 100 V. 40 Hz.
The current 1n the circuit 1s

2.8 &d0) (28852 (5°5) S 100V, 50 Hz 2855708 §895H % 8A DNGS DDT0DHH. ©d
255708 28 AGPES50H EIDIPE 10 A Jogsd @IS, QdYEd (88505,
D EESNS) @FBe5° 9D & HoprdSnds 100 V. 40 Hz 255°08 €958 = Sea$Hoes®
DB0LS (D0

Options :

| 10A

8A
. 5VZA
L1042 A

L2
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Question Number : 115 Question Id : 4557344755 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

An observer 1s at 100 cm from a point source of light of 120 W power. The rms value of the
magnetic field due to the source at the position of the observer is 18

L B s
(Speed of light in vacuum = 3x108 ms~1. e 9x10° Nm™C 7
0

120 W arshggo o 2.8 Hoh 5708 2580 SHod 28 H82e80¢H 100 cm Sr-does® & o7&,
H080K% &5 rdo 5§ 2580 S0 0B wohaod FEH ms Heod T.

=9x10°Nm’C ™

[TANNLY B [l 8 -1
(FrSg0e5* 5708 S& 3x10°ms™, ane

Options :

| 2x1077

3x1077

L-2

4x1077

d

. 5x1077

Question Number : 116 Question Id : 4557344756 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two parallel metal plates A and B separated by a distance 25 cm are connected to an ammeter.

Photons of energy 3.28 eV are imcident on the photosensitive plate A of threshold
wavelength 5000 A. The minimum value of the magnetic field to be applied parallel to the

plates so that the current through the ammeter becomes zero is Bx10~> T. Then the value
of Bis

(mass of electron = 9.0<10731 kg. charge of electron = 1.6x10717 C)

25 cm 5508’ 35B0HsS ASH8050 B @E 8ok 5088 S5 desod a8 ©dnics
S0prS0 BF K. s60gs S6ongaggo 5000 A e ¢ QFHYTTES DOs A 3.28eV #8 fio
FirHron HS5HHDHED. ©A6S® DS PBariro Hrdgo FTre0d Hoed dSrodsorr
©550D50DE woHdod FEH §IR Jend Bx107 T, wond B dens,

(Qogs (5508 = 9.0<1073! kg, QO s3%0 = 1.6x1071° C)

Options :
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Question Number : 117 Question Id : 4557344757 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In hydrogen spectrum. L, line arises due to transition of electron from the orbit n= 3 to
the orbit n = 2. In the spectrum of singly ionized helium. there is a line having the same
wavelength as that of the L, line of hydrogen. This is due to the transition of the electron
from the orbit to

T e gHer0e L, 02% s*¢20 n=38gg o0& n=285g8 ae)Ls;cﬁ D0 00. 2,800
©oHNEG0 BohHS 7d00S* E'ES Ly O S80KBT A8 JSrSP0S SE0rBY S0

o 368 Op AS\Bob. & D& s*¥w0, JOEFS HoEHoe0 885 Soob
$Eg80
Options :

| n=3.n=2

s D=4, n=2
=ﬂ —
3In 5.n=3
5 n=6.n=4

Question Number : 118 Question Id : 4557344758 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : Neutrino is chargeless and possesses spin.

Reason(R):  Neutrino exists inside the nucleus.

D3 go (A): Srgils e346srdo So0a%n S §9A aSnokd.
5820 (R):  SrgddS Soldsos” &odd.

Options :
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Both (A) and (R) are correct and (R) is the correct explanation of (A)
: (A) 558050 (R) &0 Bodr $8G3050 Hn0a%» (R) @38 (A) & H0D08 HSGe

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) 58050 (R) en Bodkr $8605D 570 (R) @38 (A) § 3800 D580 5°¢%
2.

(A) 1s correct but (R) is not correct

(A) 85358 579 (R) 0GB 575
3.

(A) 1s not correct but (R) 1s correct

, (8) 50356 56 50 (R) 5056

Question Number : 119 Question Id : 4557344759 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The circuit given below 1s equivalent to

HDINGS® Hrnd SooHhln §od TREINSE SHogHSE

e o) > s

1 2

Options :

AND gate
AND %60

NAND gate
NAND csisc'jo

12

NOR gate
NOR &%¢80

OR gate
OR &%50
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Question Number : 120 Question Id : 4557344760 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A signal of frequency 20 kHz and peak voltage 10 V is used in the amplitude modulation of
a carrier wave of frequency 0.5 MHz and peak voltage 20 V. Then the ratio of the frequencies
of upper side band to the lower side band 1s

0.5 MHz &rdeydg0 08a5» 20 V 3pd ﬁ‘@e‘i e o778 $560M0 BNE) 5oL 0E
SrgBAS 588 FHeSgsn 20 KHz, 898 S'B8 10 V Heo H08e) 43Brhodad.
©HB, HHS FERHE, BHS FERHBe TEHHTE RS

Options :
4:3
1.
" 5. o
o
4 514
Chemistry

Number of Questions: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 4557344761 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the radius of electron orbit in a hydrogen like species 1s 52.9 pm. the angular momentum
of electron 1n that orbit 1s

TGRS orold ES Joige 88§ Tgrgo 52.9 pm o0 SEELS N JOFS 13D B fofe

Options :

h
| 27

h
R4

L2
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Question Number : 122 Question Id : 4557344762 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

According to quantum mechanics. in which of the following all the information about the
electron 1s present?

52080 OSTo@8 TR0 ©5°60, JOFTIH How05HoNS JSSrmrdSoe §odardds' BIS®
& 080087?

Options :

Schrodinger equation
280886 HEB90

Wave function
S50 (HanoHo

-2

Principal quantum number

BTN 57080 JoPg

Probability density
S0gTHgHs o

Question Number : 123 Question Id : 4557344763 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the elements of second period of the modern periodic table. the decrease in atomic
radius (pm) 1s maximum with respect to

2508 BHES HBES® DokS HBOHE Sorersees® HA8 B02050D HES~e agrgo(pm)
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Question Number : 124 Question Id : 4557344764 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The bond length and bond dissociation energy of H, are 74 pm and 436 kJmol™ respectively.

Which one of the following graphs correctly represents the variation of energy (in y-axis)
with mnter atomic distance (in x-axis) of H,?

H, &3208), 2068840, 206 H@3r2s ¥§ S60dm 74 pm, 436 kImol™. §ob6 rHos® 26 H,
Bg) wodd H8S8ew rdo (x-wgoes®) & #§ (y-»Eoe°) Srdd J0m Srddos?

Options :

(kJ mol )
W\
136 s s

i L l 1
I |

75 e Y S

—x (pm)
J\
(kJ mol )

T \/
436 p-—-- "

[
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(kJ mol )
A

436 ——v

Y
(kJ mol )
5\

436 - _v

73 74 75
—X (pm)

Question Number : 125 Question Id : 4557344765 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A molecule (X) 1s represented as ABE and molecule (Y) 1s shown as AB,E,. In X and Y.
the electron pair arrangement around the central atom 'A' 1s respectively

&8 @) (X) S ABE & Srdosmr, @0 (Y) S ABLE, & Srdomd. X, Yo' So58

0arny) ‘A’ dodor 03'5'-3@35 280 @08 SHdne

Options :

L3

Square pyranud

W00 drargsrdo

Square pyranud

IHOR drocgsso |,

Octahedral

wHRNOS

Octahedral
@ééeé

Square planar
BB ke

Octahedral

wRDOS

(o)

Square planar

DO g

Octahedral
) zéé s
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Question Number : 126 Question Id : 4557344766 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The temperature to which the open vessel at 27°C 1s to be heated to expel 3/5 of the air in
it 1S

(Assume (1) volume of the vessel remains constant and (11) 1deal behaviour for all gases
present in air)

27°C 58 o8 86D &) r@ES°Q md IBDISHH 3/5 Sodd o5Hids Fddh dFomr
BoHErDE, TN Jod GAUSH I8 DoSrd) &0onod?

((1) g 5 H0S5,0065° Sty Goddd HB0S» (1) OIS aroinIoosn sdd)
TOINNON 2B B0S50)

Options :

, 477°C

750°C

L-2

1 627°C

[N

e I

Question Number : 127 Question Id : 4557344767 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The volume o1 0.1M KMnO, solution required to completely react with a solution obtained
by dissolving 0.63g of oxalic acid (molar mass 126 gmol™) in 50mL distilled water in
acidic medium m mkL is

0.63g &8 e300 (0rerd (Bg0°8 126 emol) S0mL 20653 30065° EBAOET ©HoDS
(5°Se07Q) &5 08rS80e5” Jrom IEgS0H0EErds s30dS 0.1IM KMnO, G dw0
D5HBSre0 mL eeS®

Options :
1 30

10

=

20

PJ

4 40

Question Number : 128 Question Id : 4557344768 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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The enthalpies of formation of COg). CO,g and N,Oyg are —110. —393 and 81kJ mol™
respectively. If the enthalpy of reaction (AH) for N,Oyp) + 3COg — N,O(g) + 3COyg) 15
—778 kl. the enthalpy of formation of N,O,(g) in kJ mol! is

CO(>), COyzyy NyO() © S03d Jogdyen 5KH3m —110, —393, 81kJ mol™.
2059y kI mol! exe5*

Options :

, 10

768

12

-768

r]

4 -10

Question Number : 129 Question Id : 4557344769 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the value of AG® for the equilibrium reaction at 300K is 57.44 kI mol™. the equilibrium
constant K_1s

300K 5¢ Sdoarsd Sdgs AG® Dend 57.44 kI mol wons $%re-)8 Q0°080, K Jend

Options :

. 57510

5.7 x 1010

12

1.0 % 1010

1.0 x 10710

Question Number : 130 Question Id : 4557344770 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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At T(K) if the ionization constants of HCOOH and HCN are 2.0 x 10~* and 5.0 x 10~

respectively. the 1onization constants of the corresponding conjugate bases
respectively are

T(K) 56 HCOOH, HCN ©0%0EdD 00572 HEJM 2.0 x 107, 5.0 x 107 wons, ¢
©i8rs 5ol oo soHsdn Jorosten SHJm

Options :
, 2.0x 10 5.0 x 10711

2.0x104,5.0x 107

12

50x10°,20% 101

4 5.0x10,2.0x10°°

Question Number : 131 Question Id : 4557344771 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

When 2.0 mL of 15.18% (w/v) H,0, solution 1s decomposed the volume of oxygen liberated
atSTP1s

2.0 mL 15.18% (w/v) H,O, @300 J30drdo BodIDE o) ook Sjcﬁjcﬁmcﬁ;g 58230
W$H0Sr0 STP S mL o

Options :

1 50

30.36

L2

3 100

4. 7-59

Question Number : 132 Question Id : 4557344772 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The pair of s-block metals. which give crimson colour to the flame 1s

._..,.5

803y oM ergesd '515{3 s=7°8 S50 2ob

Options :
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Li Mg

Na.Ca

o ]

11, Sr

sd

4IK.C3

Question Number : 133 Question Id : 4557344773 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Diborane reacts with NaH in diethyl ether to form X. Reaction of X with I, gives Nal. H,
and Y. Whati1s Y?

[l

500, 3535 $P6e° NaH & S6gTol X & :&5&5315353. I, & X $6gS08 Nal.
H, 508050 Y 085 28\65:85. Y2872
Options :

| Na,B,O;

B,O,

12

H,BO,

B,H
i i

Question Number : 134 Question Id : 4557344774 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Identify the correct statements regarding fullerene
1. It has 60 vertices
ii.  All carbon atoms are in sp? hybridisation

ii1.  The number of rings having six carbons each is 20 and the number of rings having five
carbons each 1s 12

iv.  All C—C bond lengths i 1t are equal

DO H02205H00 SBFS DSCOS HY0HHN

!..r.-

HS* 60 3omen Gamon

. G3S° =d) s HSrnHen sp> H0865600e5* &otrom

iil. BJS° PETIS® s v Sooiren 20, 0 shHoe Seoiren 12 oirow
v. &5 =d) C-LC 0GB gen DTS

Options :
| 1. 1%
5 LA, 111, 1V

3 LI1L 1V

g4 L 111

Question Number : 135 Question Id : 4557344775 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify green house gases from the following

808 58365° ((id TR arofned HBodod

L 00 ii. CO

iii. CH, iv. O,

v. SO, .. CFC
Options :

| LIL L1V, VI

i i, iv, vi

collegedunia
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5 1L 111, 1V, V1

4 1.11. 111, IV, V. V1

Question Number : 136 Question Id : 4557344776 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Among the aliphatic hydrocarbons C,H. C,H,. CH, and C,H, the pair having hybrid orbitals

to unhybridised orbitals ratio 1:1 1s

C,H. C,H,. CHy. G H, 93 2937438 Tri@'syne s’ 5086 sdyirde, $0868600 306

sOrg S 1:1 m Ao 2ob

Options :

 CHg CH,

C,H,.CH,

L-2

C,H,.C,H,

CH OO,

Question Number : 137 Question Id : 4557344777 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
Bond lengths (inpm) of C—C. C=C and C=C are

C-C. C=C.C=CaotBogen (pmoes’)

C-C
Options :

154

1120

-2

154

140

©

120

154

120

&

133

139

collegedunia:
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Question Number : 138 Question Id : 4557344778 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Addition of HBr to propyne takes place through Z. What 1s Z?

@2, HBreo Sosed 363 Z oqo° 2608008, Z 95358 26?

Options :
@
- CH,-C=CH,
<
CH,-C=CH
5 Br
e

, CH,—C=CHBr
@
CH,-CH=CH
4

Question Number : 139 Question Id : 4557344779 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a cubic closed packed structure of mixed oxide. the oxide 1ons are in CCP arrangement.

1 , 1 ; .
— of tetrahedral voids are occupied by cations A and - of octahedral voids are occupied

by cations B. The formula of the oxide is

a8 DEFD =& D578 SQ)erd Erdd) J07008° &0k, ©8)8 wosrd) Ha s JdQ)ard

|
Erd) 6558°% (CCP), Sgrar@s Sogrods® p: grifo 5°LoSrd) A, s rES So e,

1

5 @rifo 5°005rS) BesEnods, & s§)s Jrdner
Options :

| ABO,

3,"2E -

ABO
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, AB0;

Question Number : 140 Question Id : 4557344780 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

CO, and CH, gases were bubbled through two different one litre water flasks at the same
partial pressure of P bar at 298K. If the Henry's law constants of CO, and CH, gases at
298K are 1.64. 0.41 k bar respectively. the mole ratio of CO, and CH, gases dissolved in
one litre water 1s

298K 3¢ Bodh I I 2.8 OLG Adife Frges s CO, CHyTdwdHod 28 88
255 P bar 5¢ Hodhoseggon. 298K §¢ CO,. CHyardSndHe TrQN0HS Q005N
36335 1.64. 0.41 k bar 2020 a.8 OLG 08e5® 8§85 CO, . CH, arddnde Irde s

Options :

1:2

12

4 2:1

Question Number : 141 Question Id : 4557344781 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A): The flow of solvent molecules from pure solvent to the solution through
semipermeable membrane 1s osmosis

Reason(R):  Pure solvent molecules flow out of the solution through semipermeable
membrane if a pressure larger than the osmotic pressure 1s applied to the
solution side

AR &o (A): PR wmoa)en ?_&:g @33%‘553‘6 o0 HF (@SB $o0d TrH00S5 S
B3B08Erd) Bardd800 wolrdd

526200 (R): (B85 8 HETIE0T 80,3 HETA) (@°H000D Fenf 1) (57500 $09)
Eg @’35%5 20 07 SIS (PO L) 0L (DT TR0N

The correct answer 1s

STolonVENIRS N b AR B

Options :
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Both (A) and (R) are correct and (R) 1s correct explanation of (A)
1 (A) 508050 (R) en Boddr 385D $80%» (R) @36 (A) & H0B0S HSGe0

Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) $08050 (R) &0 Bodr H8G&ED ©ond (R) @36 (A) § H0508 D58 5=

.ﬁ

-

(A) 1s correct but (R) 1s not correct

. (A) J000058 570 (R) S0F03H 5765

(A) 1s not correct but (R) 1s correct

" (A) 583056 60 52 (R) $05056

Question Number : 142 Question Id : 4557344782 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If E° .y of a cell represented by
Ni/Ni* (0.04M) || Ag™ (0.002M)/Agis 1.05V. the Ey in V is:

Ni/Ni2™(0.04M) || Ag™ (0.002M ) /Ag

& orHodS Podoo, E° < 1.05V =008 E.@m V ee5*

Wb
Options :
| 0.932
, 0.814
3. 0.466
4 1.168

Question Number : 143 Question Id : 4557344783 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

gcollegeduniaa

el



If the first order rate constants for the decomposition of ethyl iodide at 600K and 700K
are 2.0 x 10~ s and 2.0 » 10~* s7! respectively. the activation energy for this reaction in
kJ mol™! is

600K. 700K $5& 285 «@na& HIArmIE HES E&ro8 ﬁmg’éﬁn ?30105103 SB1

20x10°571,2.0 x 10*s7! wond & $65 &828 ¥§ kI mol ! oe5*

Options :

| 80.4

L2
=
O
9

Question Number : 144 Question Id : 4557344784 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following 1s correct regarding physisorption?

88 whHTN0SE Howohot) §od ¢S BBFHE IB?

Options :
It involves chemical bonds between adsorbent and adsorbate

e ndo, «HTAS0 ;’)J(;Sa o8 ore &G odrron

Enthalpy of adsorption is about 80-240 kJ mol™
wHF AP0 ro‘fé& 80-240 kJ mol! = &otnod

Lo

It 1s reversible i nature

B8 &gl Jeerdo eotnod

It results in unimolecular layer only on adsorbent surface under high pressure

wHE DES0 ¢ ©HTNE0 GHOL0D IrED I8 w0E D IGYBEH0b

Question Number : 145 Question Id : 4557344785 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Match the following.

List-1 List-1I
A) Zonerefining I) Indium
B) Poling II) Titanmum
C) Van-Arkel method II) Nickel
D) Mond process IV) Blister copper
V) Zmc
8086 T 2855 ESHdD
erder -1 ade - 11
A) Hoode RS0 ) %080%0
B) &Fdoh I 8&edodo
C) & «9) S slal ) &8s
D) &Sros DES IV) 236 556
V) @0f§

12
=y

R?

=
=

>
ve
®
»

Question Number : 146 Question Id : 4557344786 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
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Which of the following reactions cannot liberate phosphine?

808 F8g0e” FNRd Ide RIS 6?

.

Options :

1. Ca,P, + I—IEO -

. PCL+H,0
A

3 H3P03 S 4

PH,I+KOH —
4

Question Number : 147 Question Id : 4557344787 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following reactions represent Deacon's process?

—_—
=

80B SEgoeS* I8 AES HEED Sg¥o By0H?

Options :

~ 4HCIO, Cuch 42¢1,+2H,0

‘ﬁ‘?mlight
2H,0+2Cl, — %65 3 AHCHO,
Rhgauge
4NH;+50) —z57o—>4NO+6H,0

3 5

280,+0,—2% 4,250,

Question Number : 148 Question Id : 4557344788 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Sulphur reacts with conc. HNO; to form H,SO,. H,0 and X(g). The liberated X(g) was
passed into water to form Y(g) and HNO;. What1s Y?

é@&a‘i el HN03 & zﬁdéﬁ’o& H_.;_,SO4. HEO 803n X(ae) o Ddgd}zﬁ}?&:. DB 0208
X(e) S HEB3e5°DH8 Bohosys Y(ar) Sodas» HNO, ex L‘Jﬁﬁcgon. 7 6?

Options :

. NO,

2. NO

3 N;05

iy,

Question Number : 149 Question Id : 4557344789 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following permanganometric titrations does not give satisfactory results?

808 H0°oRTEE oFSTrHTOS® B JoKNETHS HOE ) adge?
Options :

2KMnO,+5H,C,0,+3H,S0, —>?
1.

2KMnO,+10FeSO,+8H,S0, —>?

L3

10KI+2KMnO,+16 HCl——?

2KMnO,+3MnSO,+2H,0—>?

Question Number : 150 Question Id : 4557344790 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Identify the correct statements from the following.

i.  In[CoCl(NH,)]*". the Lewis acid is Co*"

1. An example for heteroleptic complex is [Co (NH3)6]3+

iii. The hybridisation of Mn in [MnBr, >~ is dsp?

iv.  In[Ni(CO),]. the metal-carbon bond possesses ¢ and &t character.

Bod artde5” HOGHS V3G HBowrdN

i.  [CoCl (NH;)J*" &%, Co** exrond esivo

i, S6BRE S08xE eTrdn [Co (NH,) ]

iii. [MnBr,]*" ¢5° Mn 50868605 dsp?

iv. [Ni(CO),] &%, &%r0-52¢\Q 2205708 G So0050 T HeerSSnotnod

Options :
1 1. 1. 111, 1V

-----

Question Number : 151 Question Id : 4557344791 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The Poly Dispersity Index (PDI) of a polymer is 1.5. If its number average molecular mass
1s 30.000. calculate its weight average molecular mass.

2,8 FOSG Fd IgHed JrdHg 1.5. 500 Ko Sopg @ BS550°8 30,000 2008, T°0
St g8 w0 BSgoes

Options :

40,000

[

120.000

L-2

145.000

4 90.000
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Question Number : 152 Question Id : 4557344792 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical
Diseases caused by the deficiency of vitamin D (X) and vitamin B,(Y) are

DLMS D (X), DS By(Y) 550 S0 38y sanen

X

Options :

12

Scurvy
08

Rickets
B3¢e5)

Rickets
B8LY

v

Cheilosis

§e5°D

Cheilosis

865555

Scurvy
908

Convulsions

Seandy &Ko

Question Number : 153 Question Id : 4557344793 Question Type : MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

Which one of the following 1s an anionic detergent?

808 a7¢3e5* 5505708 B30T J6?

Options :

13

3

Sodmm dodecyl benzene sulphonate

 FEoHS TS BodS

Sodium palmitate
PR FEET

Cetyl trimethyl ammonium bromide

0BS5 BgS ©3rodHan S

-

el
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Sodium stearate

: A0 HO30ET

Question Number : 154 Question Id : 4557344794 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The correct order of reactivity of the following compounds towards S, 1 reaction 1s

Syl S0gHey §0d ISP Fare Sorglodd Srdod S8FS (ESo

CH,CH,X CH.CH X (CH,),CX (CH,),CHX
I II 1| vV
Options :
I=IV>1II>11

1.
, I>>1V>1
; [>IV>T>1I

3 IV=1I>1>11

Question Number : 155 Question Id : 4557344795 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify X and Y 1n the following reactions

Bob Sdgee® X.Y ol $H8058m

R — CH=CH - CH,0H—> R — CH = CH-CHO

R —CH,0H—3R —-COOH

X Y
Options : |
: KJ.\’IIIO4fH+ KE Cl}_'o 7 :"H@
PCC KMnO, /H®

L3
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CrO, PCC

PCC Cro,

Question Number : 156 Question Id : 4557344796 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify X in the following reaction

8o 655" X & Hfodod

OH OH OH
e NO,
—} -
NO,

—

Options :

Conc. HNO; +Conc. H,S0,
e s

Fumig HNO;
QAT

12

Dilute HNO, / 298K

Conc. HNO 3 / 300K

e

Question Number : 157 Question Id : 4557344797 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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Y and Z in the above sequence of reactions are respectively

2 dESHSbgees” Y 500050 Z e 563

Options :

HCOONa . C,H.CH,0H
l.

_ CgH,COONa . CH,OH
, CgH;COONa . C¢H,CH,0H

, CH;COCH;  CH,ONa

Question Number : 158 Question Id : 4557344798 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Heating cyclohexene with KMnO,—H,SO, gives

PETTHIH5 KMnO, — H,SO, & 3& Bo%K J8)kosa

Options :
Glutaric acid

1 ri:;;ir&g -?55%0

Hexanal

. 8IS
. o

Hexanoic acid

‘méﬁ‘&n@" 25300
3. [5 o)
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Adipic acid

A JEDS =do

Question Number : 159 Question Id : 4557344799 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following reagents are used to distinguish aldehydes from Ketones?

Fehling's reagent Lucas reagent Hinsberg's reagent Tollens reagent
I I I IV

8oB i3S s rlen, SIS0 HBoSEIE T8 sEse

2o90of)) 5650 OrsTe 5380 TG 57680 5°8x) s°880
I I I I\Y
Options :
LOLIV
, ILII
3 LII
4 LIV

Question Number : 160 Question Id : 4557344800 Question Type : MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

What are X. Y and Z in the following reaction sequence?

Phihalamide SSOREWNNg o BRGUE yy 2K .5

Bod SorgEsooss® X, Y. Z e 2D?

w8 Sid KOH/C,H:OH RX
Tods— el ¥ = .y >Z

X b, 4 Z
Options :
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